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13.500 m2 = 1.500 * (9.000 + 0.000 + 0.000 + 0.000)
HATELD = L U [B&R = Wl <X EA X (ETER + AERE + ARER + MEER)
4.860 m3 = 1.500 * 0.360 * (9.000 + 0.000 + 0.000 + 0.000)
FRHIED R L 2 [ = (GEANE X B4 - FEf) X LTiER) + (GEHE X B4 X (Riitk + Rtk + MEER))

10. 161 m3 = ((1.500 * 0.760 — 0.011) * 9.000) + (1.500 * 0.760 * (0.000 + 0.000 + 0.000))
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IRES [ 06 | T@%E%H [F&KEEHPPE ¢ 100TF [ W—bES [ 02 | I—tEH [REDSHEENS-)
JE Tl JE i 5 AL @ s i H K
RN A 1 |EEEmAER = WAE X 54 X (ETHER + AER + RIER + MEAER)
[ ES AN 1.350 m3 = 1.500 * 0.100 * (9.000 + 0.000 + 0.000 + 0.000)
PR ] 1 [l = SEmAIE e L
(Bl 2L 3 H) 1.350 m3 = 1. 350
RN A 1 [Edt = WAl e T
(B ) 19. 440 m3 = 19. 440
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REFEEEES : 50000900 HEKETE]
[ IRES [ 06 | T@%E%H [F&KEEHPPE ¢ 100TF [ W-rES [ 04 | I—tEH [OFERZBE)
JE Tl JE i 5 AL @ s i H K
A& 1 (Bl = AEIRERE - A
112.200 m2 = 112.200 - 0.000
iRl 1 [ = OREHmR - AHEmR) X &2
5.610 m3 = (112.200 - 0.000) * 0.050
HiEARMEIR 1 [l = AEIRERE - A g
112.200 m2 = 112.200 - 0.000
AR 2 [ = AEIRER - AR A

112.200 m2 = 112.200 - 0. 000

RN 1 AR = ORMEINmR - (T simma) X B
(Bl 2L 3 A1) 5.610 m3 = (112.200 — 0.000) * 0.050
RN 1 B = SEeimEl 1 e L
(B 2L 3 H)) 5.610 m3 = 5.610
RN 1Bk = AU -
() 5.610 m3 = 5.610
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JE Tl JE i 5 AL @ s i H K
A& 1 (Bl = AEIRERE - A
13,500 m2 = 13.500 - 0. 000
iRl 1 [ = OREHmR - AHEmR) X &2
0.675 m3 = (13.500 ~ 0.000) * 0. 050
HiEARMEIR 1 [l = AEIRERE - A g
13,500 m2 = 13.500 - 0. 000
AR 2 [ = AEIRER - AR A

13.500 m2 = 13.500 - 0.000

RN 1 AR = ORMEINmR - (T simma) X B
(Bl 2L 3 A1) 0.675 m3 = (13.500 — 0.000) * 0.050
RN 1 B = SEeimEl 1 e L
(B 2L 3 H)) 0.675 m3 = 0.675
RN 1Bk = AU -
() 0.675 m3 = 0.675
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SREEEEES . 50000900 [ #)EEEHE]
| IEES [ 07 | TR#&%H [REREHARHETIS [ W=FFES T of | I—tEH [FHEIEZERBTL)
JE R J& #m AL #m S 3 "R
I I [Bdm = (GEdliE X 22 - Fme) X (ET3ER + BEER)) + GEHlE X B2 X (REER + WER))
4.428 m3 = ((1.500 * 1.480 - 0.006) * (2.000 + 0.000)) + (1.500 * 1.480 * (0.000 + 0.000))
JEHHLO R L I (B = (GEEE X JEA - BmEAD) X LTER) + (ElllE X BEA X (RIBER + REEk + MEER))
4.428 m3 = ((1.500 * 1.480 — 0.006) * 2.000) + (1.500 * 1.480 * (0.000 + 0.000 + 0.000))
RN IR = 1 |BoE = #HlE s i
GRAD 4.428 m3 = 4.428
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BIEEEES . 50000900 &) EEHE]
IAES | 08 | TAEH  |[FERKELIB [ —F88 [ ol [ I-1%% [AERKEERD
i G B L W S #F B X
A1 U |BoE = #ElE X 2 X (ETER + RELEE + RiER + MELER)
2.000 m3 = 1.000 * 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
FRRELD 5 L T |5 - WAE X 55 X (ETEE + AWER + RAEE + REER
2.000 m3 = 1.000 * 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
i Ly E 1 |[HoE = AU L
() 2.000 m3 = 2.000
o -
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T I % E Bt E B iR X )
BIEEEES . 50000900 &) EEHE]
IAES | 08 | TAEH  |[FERKELIB [ —F88 [ 0 [ I-1&%h [FEHKE EHC)
i G - T E X
T T |k - (ETIERE « AMOEE « AWIEE + MELR) + (RFAlE  Eohing < SFmErE) < DBk
30.000 m = ((15.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
T T |5 - WAE X 55 X (ETEE + AWER + RAEE + REER
1.500 m3 = 1.000 * 0.100 * (15.000 + 0.000 + 0.000 + 0.000)
T T |BR - WAE X 55 X (LTIEE + ATER + RAEE + MELR)
13.500 m3 = 1.000 * 0.900 * (15.000 + 0.000 + 0.000 + 0.000)
WEEN T |BR - WAE X 55 X (ETEE + AWER + RAEE + REER)
1.500 m3 = 1.000 * 0.100 * (15.000 + 0.000 + 0.000 + 0.000)
A T [ - WAE X (ETER + AWIEE + RIEE « WEER)
15.000 m2 = 1.000 * (15.000 + 0.000 + 0.000 + 0.000)
RO R L 1 |BoE = #HIE X B X (ETER + RIELE + RELER + MELER)
11.250 m3 = 1.000 * 0.750 * (15.000 + 0.000 + 0.000 + 0.000)
i Ly E 1 |BoE = EEHAI S LUe i
(BhZEHEH) 1.500 m3 = 1. 500
B sy e 1 B = #HIE U LR
() 13.500 m3 = 13.500
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T I & E # F E itE X )
SREEEEES . 50000900 [ #)EEEHE]
IEES [ 08 | T@&#H [FEHEKELE [ W=FFES T 08 | I—FEF [FHEKGIRER
JE R J& i "5 L @ S EEEN
i ) e I (B = (BT3ER + RV R + RIBER + fER) + (GEFEENE - S@imiiie) X MEFEEiE)) X GkrEE
96.000 m = ((48.000 + 0.000 + 0.000 + 0.000) + ((0.600 - 0.600) * 0.000)) * 2.000
[E S I (B = (GEElE - e X (ETER + MEER)) + GEHlE X (RELER + RTER))
28.800 m2 = ((0.600 — 0.000) * (48.000 + 0.000)) + (0.600 * (0.000 + 0.000))
I I [Bdm = (GEdlE X 22 - Fme) X (ET3ER + BEER)) + GEHlE X B2 X (REER + WiER))
34.512 m3 = ((0.600 * 1.200 - 0.001) * (48.000 + 0.000)) + (0.600 * 1.200 * (0.000 + 0.000))
EESEE I [BdE = #HlE X (ETER + KETR + REER + fMEER)
28.800 m2 = 0.600 * (48.000 + 0.000 + 0.000 + 0.000)
AR I I [Bde = Al X (TR + Rtk + TR + fEeER)
28.800 m2 = 0.600 * (48.000 + 0.000 + 0.000 + 0.000)
AR 2 |HiE = EHlE X (TR + flEEk + RELER + fMEER)
28.800 m2 = 0.600 * (48.000 + 0.000 + 0.000 + 0.000)
AL R L I [Bdm = #HlE X B X (ETIER + REGER + RAER + fEER)
16.704 m3 = 0.600 * 0.580 * (48.000 + 0.000 + 0.000 + 0.000)
AL R L 2 |EdE = EHlE X B2 X (ETIR + {EER + TR + fEER)

8.640 m3 = 0.600 * 0.300 * (48.000 + 0.000 + 0.000 + 0.000)
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SREEEEES . 50000900 [ #)EEEHE]
| IEES [ 08 | T@&#H [FEHEKELE [ W=FFES T 08 | I—FEF [FHEKGIRER
JE R J& #m AL #m S 3 "R
RN IR L[S G = (EAlE X B2 - Fmk) X (TR + MEER)) + GElllE X JEA X (REEE + RER))
[ E ST 2.832 m3 = ((0.600 * 0.100 - 0.001) * (48.000 + 0.000)) + (0.600 * 0.100 * (0.000 + 0.000))
RN 1 [Bim = ShimH e L
(RREEF ) 2.832 m3 = 2.832
RN L (B = WA UE LR
GRAD 34.512 m3 = 34.512
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SREEEEES . 50000900 [ #)EEEHE]
[ IEES [ 08 | TH&H [FRHEKEIS | W=—FES | 04 | JW—t&FH [OFHKK3IAE—-AEW600
JE R J& #m AL #m S 3 "R
e I I [Bim = AEIRmEA - sk dim s
28.800 m2 = 28.800 — 0. 000
) 1 Bk = OREIREHE - i) X B
1.440 m3 = (28.800 - 0.000) * 0.050
SRR I [Bim = AEIHmEA - sk im s
28.800 m2 = 28.800 — 0. 000
SRR 2 B = AEIHERE - (R
28.800 m2 = 28.800 — 0.000
RN IR L[S EGE = OREIRERT - (HREER) X JEh
(REEF ) 1.440 m3 = (28.800 - 0.000) * 0.050
RN 1 [Bdm = ShimH s e L
(RREEF D) 1.440 m3 = 1.440
RN IR L (B = WA UE LR
GRAD 1.440 m3 = 1.440
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SHEENE A 1 (B = AEIEEA - (R0 R
28.800 m2 = 28.800 — 0.000
BHEEARTEIR 1 |BoE = AEIEEE - R0 e
28.800 m2 = 28.800 — 0.000
BHEEARTEIR 2 B = AEIBEAE - PR R
28.800 m2 = 28.800 — 0.000
F sy e 1 |EEERHIECE = OREIRER - ARIEmAE) X B2
(BhZEHEH) 2.880 m3 = (28.800 - 0.000) * 0.100
i sy E 1 |BoE = SEEHAHI S Ue T
(BhZEHE A 2.880 m3 = 2.880
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